EARAROBREBRT —5 XN—ZXBISH—F 2024518218 (B) 10IR#7H

U HSZ3Em HE [HeT] B8 [ E | memm - | 2 w0 e
[AXE%) 1 & :6,200,000  ~ 23%&:2,500,000 9  33#%:1,600,000 @ . 43#&:930,000 " 5 3&:620,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
e _ s 3 | AL JLX—=h 1:38.0 1-1 36.6|79.9 | 9 | 448 |WBIER ()
117114 ¥ 2RO-Y 55.0 =) -) (ﬁ)?w7)?4—ﬁ37DwFR
RiAZASR=—5 E:A)IL7rO-R FEEZ S Y R
<, S s 3 | JINESE 1:38.2 4-5 3.4 77.9| 5 476 | SNET RR)
2 6| PVI—HEY 57.0 a1/2) (=) | LAskent
R:T—=ILRI—-R H:RyI—9E9IY (=]
>~ % 3 | BHER 1:38.4 4-5 36.6| 76.0 | 3 428 | LAEFET (RR)
318l17|/N\AR=> 55.0 (1 1/4) () |EBIIFE
RE-UR B/ —TIWU—RY J—YYT7—L
© 4 3 | FXRH 1:38.4 7-7 3.4 76.0 | 8 3) | FB— ER)
4 3 /\IJ/\ 55.0 (797) (_) RRE
RPN/ TSYY BFIRE—TF TS
5 s 3| MLEAE 1:38.7 M-11 [36.5)73.1| 6 | 454 |#HAEE (FER)
5 51791 57.0 o) ) ) hF PR YTR
RZIWVTFAY B:—I—-HISUKR WA A0
= 4 3 | K2 1:38.9 9-9 36.8| 71.2 | 1 1460 | REEX (E=)
6(7/13| AVT7 57.0 (1 1/4) ) ) £ BL—yvr
RiTUYIRFYRELIINL B:YST4F HBEIT7—LA
~ == s 3 | RMEMEC 1:38.9 2-3 37.3| 71.5 | 12 500 | FEEIEER (3E3R)
71111 | 9AVART TP /R 57.0 F93) (- | @& o1y
R:ZwF—JO0—-U— B:I9A4VFT4T75 AREYa—Tr7—L
~ s 3 | dlllEE 1:39.2 16-15 [36.5| 68.3 | 10 | 410 |EGDFX (REF)
8l/5/10/ 7Lk 55.0 ) ) | . G1L—y>7
R:AWTT—JIL B:7ILX—=VUk BDIT7—LA
=7 )%— f% 3 | BRE 1:39.3 7-9 3730 67.7 | 4 | 480 |MKEK (RER)
9|8|15| TR/IN=FIL 5.0 3/4) o) | (B m@ns
RPN/ IAVEVR B:vavFyIeR Eesbie )
N =~ T s 3 | MWEERS 1:39.4 9-11 37.3] 66.8 | 11 | 452 |BE—F (RN
100N 7 | 9B/ T5VI—R 55.0 1/2) =) J\AER
RFIRIWFVIIL B:7RIAVYILT BRAEMFEIN/ T 7—L
— o JISEZ :39. - . . wEZ ER)
1 4| PR IHO/ 303 i 1(/3% 6-2 37.9] 67.2 | 17 (418) et
R:TSvIIA R B:FIIFEF #HBIT7—L
—RAw 3 | PlEEX 1:39.5 1M-13 | 37.2| 65.8 | 2 | 462 |7EEs (5SM)
12/5]9 | A4 —RAY K 57.0 %) (o) |ABEE
R:TUYIRFPYRELIIL B4 ISt
5 ~ )= 4 3 | BHF 1:39.9 11-13 [ 37.5| 62.3 | 14 | 494 |45 (5ER)
1318|116/ D7UTVTVF 57.0 Q172 (=) | @) R#ER—2057
RAASRZ—8 B:eYI7UPYN ot 38R
EDEIE :40. = . . KiRE#EZ (FER)
1 g| JU/ITUFR 4 3 Ea 1 (481 15-15 | 37.5| 60.4 | 16 (43(; i
R:UYRI7IVIR B:LyRILYT7Y #h_tt SUFVITF—L
g s 3 | iResR— 1:40.7 2-3 39.1] 5.9 | 7 450 | EEDFX (W)
1503 11| BoILFR 55.0 @ (- | TRWTY
RiTFPAVZ—RIL B:SRILFT S—L— - VvNY - TP—LERE
I 3 | BER 1:41.2 11-7 39.2( 52.7 | 13 | 442 |BESFE FH
16MQ 12| LY aH 57.0 3) =) TR
R:O—RkAHrO7 B:7RT 4 Pu e ]
o ~ SHER : - KRB (FER)
1701]2|FFTNITFYNYA #3 T80 S5 K e el ff‘; Hrhize
RiOAIYNUTPIFY BT7RIAPESU— RTUVTT7—Ln
[ BN
Eh' 49.9-36.6
NOYFA L | 12.1-11.5-11.5-13.0-13.3-12.4-11.8-12.4
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 14(1,11) (6,17)4(3,15) (7,13) (12,5,9,16)-8,10=2
40—F— (4,%14)-(1,11) (6,17) (12,3) (15,13) (5,7) (9,16) (8,10)=2
o ILRE
B B 14 3,490 JA R 6-14 4,750M 3= 3-7 960M4 3EE 6-14-17 20,480M4
g B 14 710 14-17 1,890 5 & 6-14 20,1504 3EH 14-6-17 199,030
6 3604 6-17 820/ o= 14-6 38,390M
17 210M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.



